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If the CPU scheduling policy is SJF, ‘ |
Calculate the average waiting time and average turnaround time. - |

Firstin First out (FIFO) page replacement policy. Assume that all the page frames are
inivally empty. What is the total number of page faults that will occur while
pracessing the page reference string given below-

1.7,6,1.7,6,1.2.7,2

(e)  Explain the differences between contiguous and non-contiguous memory allocation | CO3| 2 |
methods. |
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Q. No 1 | Attempt Any Four Parts. Each Question Carries 5 Marks. CO | BL 3L |
- (a) b laborate the main functions of an operating system? o1 2
(b) Dltfueme between multiprocessing and mylnployammmg operating system? _Coilj; __2__:
(c) 'F \plam the difference between monolithic and microkernel operating system co1| 2

| architectures. ) _ ) N

(d)  What are the types of operating System? Explain with examples. co1| 2 |

~ (e) H Hm\ has the role of operating systems evolved over time? Justify. — Co1 1
" Q. No 2 | Attempt Any Four Parts. Each Question Carries 5 Marks. CO | BL|
(a) | What are the different states of a process in an Operating System? Explain with block co2 2 |
diagram, 7 ‘ i
(b)  Consider the set of 5 processes whose arrival time and burst time are given below- co2 3

Process ID Arrival time Burst time |
P [ 3 |
S 2 4 |
P [ 2 |

P4 4 4 |

() ‘ Explain the difference between preemptive and non-preemptive scheduling. co2| 2 i
d) I \hldm the concept of semaphores in operating system. A counting semaphore S is co2| 2
initialized to 7. Then, 20 P operations and 15 V operations are performed on S, What is '

the final value of S?
(e) ] D]fferenlnale bem een | nm__-Term Short Term and Medium-Term Schedulers. Co2/ ﬂ
" Q. No 3 Attempt Any Four Parts. Each 1 Question Carries 5 Marks. - Co | BL
(a) Explain the concept of demand paging in operating System., CO 3] 2
'(b) " Differentiate extel_ngl_ﬁég_,anal_lon with internal fra},mcnmllon T co3l 2!
7 (c) :l _\cpl:z_lhﬁcgsal:v condition requﬁ'ed for deadlock. - T co3l 2
(d) \ svstem uses 3 page frames for storing process pages in main memory. It u:n the ' co3| 3



tem parts. Eacl ries 10 Marks. - Co | BL
Q. No 4| Attempt Any Two Parts, Each Question Carries 10 Marksr.‘e _ differenll oa 3
(@) [ Consider a disk with 200 tracks and the queue has random 83 gkl read/wrie
| processes in the order: 35, 58, 39, 18, 90, 160.’ 150, 38, a:;dSC]AN
head is at 100. Find the Average Seek length using FIFO an .

s Tokcdnd | €04 7]
Compare and contrast the advantages and disadvantages of contiguous, lin B |
4
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indexed allocation methods.

- ifferent methods of | CO
Explain the structure of a directory in a file system. Discuss the different m I
organizing directories, - S

Q. No 5| Attempt Any Two Parts. Each Question Carries 10 Ma.rks. g Svstoms. ' ﬁl
Explain the device management mechanisms used in real-'hme opfrratmg sys r:ent‘
Discuss the unique challenges and requirements of rea]-tlme dgvncemanage ent. N Gl
Describe the methods for performing 1/0 operations in 17'"}"‘ device drivers. — !
Flaborate the Various Techniques for Accessing a Device? S o
O PO ;}
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